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Name:
CC Geometry

Graded Review Assignment

**You must show all work on every question to reedull credit (including multiple choice)**

1)  InAABC, BCis extended through C to D. I#A = 65° and iaB = 70°, what is the measure 0DCA?

2)  Inthe accompanying diagraABC Ii DEF and BE= BF.

A< A ~C
D——Fp >
If m£CBF = 4C°, find m.BED.
P
3) s T
Q R

If ST I QR, PQ = 10,3Q = 4, andPR = 5, find PT. [Show all work.]



4)

5)

6)

7)

8)

Which statement glways true?

1) The diagonals of a parallelogram are congruent.

2) The diagonals of a parallelogram bisect the
angles of the parallelogram.

3) The diagonals of a parallelogram are
perpendicular.

4) The diagonals of a parallelogram bisect each
other.

What is the area of the shaded region of thedig
below when the side of the square is 8?

8
N/
3) 32- 8x
4) 64- 8x

1) 64- 16r
2) 32- 16x

In right triangleABC, if AB = 13,BC =5, and
AC = 12, then coé\ is equal to

5 13
) = 3 -
) 1 ) 1
12 5
2 = 4 =
) 13 ) 13

What value ok satisfies the equation sinx(3 5)° =
cos (& +1)°7?
1) 24
2) 30

3) 12
4) 4

The diagonals of a rhombus have lengths of
8 centimeters and 6 centimeters. The perimetdreo
rhombus is

1) 20cm
2) 1l4cm

3) 25cm
4) 5cm

9)

10)

11)

12)

[t
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Which one of the following number of degrees ldbou
map a regular nonagon onto itseff?

1) 40P
2) 200°
3) 280°

4) Al of the rotations listed would carry the
nonagon onto itself.

The ratio of two supplementary angles is 3:6aW\é
the measure of themaller angle?

1) 20° 3) 10°
2) 60 4) 30°

In the diagram below, AB parallel to CD

Transversal HRntersects ABand CDat G and H,
respectively.

E
A—=G B
(4x)°
(3x+40)°
c =D
F

If m£AGH = 4x° and m.GHD= (3 + 40)°, what is
the value ok?
1) 160

2) 20

3) 80
4) 40

If the diagonals of a parallelogram are permiaii
andnot congruent, then the parallelogram is

1) anisosceles trapezoid

2) arhombus

3) arectangle

4) a square



13)

14)

15)

If the angles of a triangle are represented®hy
(3x + 20)°, and &°, the trianglemust be

1) isosceles
2) right

3) acute
4) obtuse

In the diagram belowyABC ~ ARST.

A B

Which one of the following statementsnist true?
AB 51
BC RS
2) Ig = %
RS ST
3) £LA=/R
AB+BC+AC _A4B
RS+ST+RS RS

1)

4)

In the diagram below @ACE, mediansAD, EB, and
CF intersect a6. The length of G is 12 cm.

A

E D c

What is the length, in centimeters, GE?
1) 4 3) 24
2 12 4 6
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16) ACAT is the image oADOG under a dilation of scale

factor 6. Which one of the following statements is
true?

1) 6(CA) =DO
2) 6(mO) = nrA

3) MmO = 6(mzA)
4) CA=6(DO)

17) A boy flying a kite lets out 200 feet of strimdpich
makes an angle of 80with the ground. How high is
the kite above the ground (to the nearest foot)?
1) 2381t 3) 153 ft

2) 128 ft 4) 261 ft

18) Line segmenAB is shown in the diagram below.

></

/VX X 1
A B

1
X

Which two sets of construction marks, labdlgid,
[11, andlV, are part of the construction of the
perpendicular bisector of line segméa?

1) 1l andlll 3) landll

2) landlll 4) Il andlV
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19) The art department at tieiangle University was charged with designing a new cloth flag fer sbhool's
Olympic Math team. They started with a white trialag shape with sides measuring 6 feet, 8 feetl2rfdet.
They then added an inner red triangle formed byeoting the midpoints of the sides of the firstrigle. Finally

they want to sew on a gold braid around the edfésdnner red triangle.

(@ Find the length of the gold braid needed to etigertner triangle.Show all work and explain your
reasoning.]

(b) If the braid costs $4.10 per yard, find the cdshe braid needed to the nearest ceSitojv all work.]

20
) E

Given: HY and EVbisect each other

Prove: HE= VY



